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(Oa=p0 22 Bp2)
(1) (X-4)(Xx+4) (2) (X-1)(X+1)
(3) (X-7)(X+7) (4) (x-8)(X+8)
(5) (X-9)(X+9) (6) Gamapa s G dyphas Jlay
(@) (2X+5\-/3)(2X+5+3) (8) (X+5-2)(X+5+2)
=(2X+2)(2X+8) =(X+3)(X+7)
(9) (6-X)(6+X) (9) (10-X)(10+X)
(Aamuypill sylemll Joudass ) Calayyas
(1) (X+3)(X+2) 2) (X-4)(X-3)
(3) (X+4)(X-3) (4) (X-7)(x+2)
(5) (X+7)(X+2) (6) (X-3)(X-3)
(7) (X+5)(X-2) (8) (X-4)(X+1)
((s1amSa ggana gf §yd ) calagyas (9)andn
(1) (X+5)(X?-5X+25) (2) (X-1)(X2+X+1)
(3) (2-X)(4+2X+X?) (4) (3-X)(9+3X+X2)
(yidia Jale zlyal) Culagyas
(1) 4(1-2x) (2) 6(X-1) (3) 4(3-X)
(4) 3(1+3x2) (5) 5(5-%3) (6) 2(X+6)
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Clyidia Jolo€ (X 331) iyt 97(10) Aadua \

(1) X(2%2-1) (2) X(5X+3) (3) X(X4+X+1)
(4) X(X2-5X-6) (5) X(3X+1) (6) X2(X3+2)
Clyidin Jals (X g sazll 3AT) cilegyas
(1) 2X(X2-5) (2) 4X(X2+4) (3)7X2(3+X%-7X3)
4) 8X3(X-2) 5) 2X(4X3-2X-1) | () 3X(X2-3+3X)
Calagyass (11 ) 4n8n
1) 8 =4 |(2)-4 =.2 (3)_8 =2 2) 2 =1
__ 8 o __ 4 __ 2
Lyt (12 ) Aa&un
(1) 11 = (1%2)-(3%1) = 2-3 - -
~ T3 72 3x2 6 6
2) 4-_1=4%x2 .1 =8 -1 =17
= 2 1x2 2 2 2
3) 7 +41=7 -1%9 =7 4+ 9 =16
-9 9 1x9 9 9 9
. (dcgia aliul) Gily Las JS gili an *
1) -2 .4 2) 2.1 (3) -7 =
- 5 5 -~ 3°4 =T
2 + 4 = 2 =(2%x4)+(3%1)
5 5 5 3x4
= 8+3 = 11
12 12
4, 6x2_ 1 (5) 2 . 1x5 (6) 3%2 +_6
= 1%x2 2 - 5 1x%5 ~ B5x2 10
=12.1 =2.5 - 64 6
2 2 5 5 10 10
=11 =8 =12=6
2 5 10 5
\\ \‘{22) /
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(gl ) um)u\

/AN =10 = 18
@/ 24 =3 10

(Agpall aganll 7yhs g 2as) Cilaygyass (13 ) Andun

(1) 6X (2) -4x3 (3) 19x2

@) o ®& x 6) ae
(Aapsnll paalBall 7y g gasy) Ciligyas

@ 4X3+7X2-X+7 @ 9X3-3X2.2 @ 2%X24+2 X
(AT (8 (g 33 capud) gy

D @ [@e | @ax
(GH2 Yot A (S aa Capd) Cilagyacs (14 ) A28

__o

1) 10X +25X3 @ 2X2-6X3+10X4 @ 5X+ X6

(6)—‘3)“3'“056)-‘3 Ja8a (apud) Calagyans
(2XxX)+(2Xx4)+(3xX)+(3x4)
=2X2+8X+3X+12
=2X%+11X+12

(2Xx5X)+(2X*x-3X2)+(2Xx2)+(-4x5X)+(-4%x-3X2)+(-4x2)
=10 X2+-6X3+4X+-20 X ++12X2+-8
=10X2%-6X3-16 X +12X2-8

(-X%x5X)+(-Xx-X)+(X2x 5X) + (X %x - X)
=-5X2++X2+5X3+-X3

— n-\l2.\l2.a-\l_q \12_ A\l2. A\l.3
SEOA TTA TOA -A =E-qA T4gA
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o

L

o

L

: (dcgia dlhul ) L Lo ang]
(1) -5x+15  [(2) -ax2+6Xx3 [(3)4x3-6X2+2X|(4) 6X2-5X +1

saaligas - (16) Anus -

(1) x=24 (2) Xx=20 (3) x=9 (4) X=0
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1) X=- (2) x=1 3) X=—"%

(1) 2a¥b.=24 b=6] vag=s
T 4a>b =12 2a+b=24 (b
6 ._ 36 2(6)+ b=24
6 6 \22\+b =24
a=6 -1 12
b=12
(gl B yh) il 1 (18) ke
2a +b =24 ...(1) . o
(4a- =12 ....(2) 4a-b=12 2 a=6 (o=
c=24-27] (2) b oag=: ‘z‘ﬁ)'bb:1122
4a-(24-2a)=12 b =24-12
~~—""
4a-24+2a =12 b =12
6a™24 =12
+ 24 +24
43 =36—> =6
ul_u)u
1) 27=76 2)4°=16 B)(F)r=4=8 4 (=%
A (47 )A~AQ A
ul_):\).l_\ NV
43=J6a = 2) 1 =1 =1 3)[125 =5
OREEY @tet |®

((ouLa¥l aslivs sie capall) cslagats 4 (18) dndun

(1)12b% [(2)8x* |(3) n 3 (4) x® (5)6a2x 7 b2

((ouLusVl aslis sic Aauwdll ) Culegyas

\24 |®w2 @3 |@sx° |(@5-x=T5 /




